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01 M= bl 48,400 52,600 N4, 200
OHs2 d(gs4+d 8)
35,000& *x202x105 7,000
oz e HE, s S ME 28,600
—Hl = 20,000& *2& 400 L 16,000
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QHZ2UX =SB IEXNM(SMEH Y )
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Al 75,000
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OJI=dsl HHl 2= SZHE FHE 2SHAl
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< 20,000
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O24H3t Uyl L=At At SHZHA AIAE Al
o 70,000
= 29,000
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OJs S8 2L ANAE AE 70,000
< 30,000
Al 40,000
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
FTIALIGHE X A E X2 M 2,800,000 0 2,800,000
J| 2,800,000
301 et d = 2,800,000 0 2,800,000
J| 2,800,000
NIJIEEd=s 2,800,000 0 2,800,000
Ost=2 FTA LIHE™ HNES 300,000
J| 300,000
Os&t2 FTA H 2,500,000
J| 2,500,000
SMAEE S 462,000 649,200 A 187,200
J| 462,000
402 2I2H X201 M 462,000 649,200 A 187,200
J| 462,000
01 It 2 AL E X 462,000 649,200 A 187,200
O=AtAI” st 462,000
J| 462,000
A2 A B E S 1,446,349 1,356,533 89,816
J| 473,891
< 142,562
Al 829,896
101 124 dl 14,112 0 14,112
J| 6,250
< 1,110
Al 6,752
04 JI2ZtHZ22HEE =+ 14,112 0 14,112
OXANE SE2EI EX& 14,112
J| 6,250
< 1,110
Al 6,752
201 Let24d] 3,600 0 3,600
J| 1,800
< 320
Al 1,480
01 At 22l 3,600 0 3,600
OXAE SEEI 29 3,600
J| 1,800
< 320
Al 1,480
307 glz2tol & 948,829 1,038,332 A 89,503
J| 345,889
< 111,170
Al 491,770
02 QIZtE M AMHEE 948,829 1,038,332 A 89,503
OXZANZHA At 2| XI A £ 8] 695,640
J| 231,880
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OAN=HES KU 201,569
Jl 86,389
& 28,870
Al 86,310
OME T 2EALLClX M= 27,620
Jl 27,620
OZESSIHAH ZALZ Y AtH| 24,000
< 4,800
Al 19,200
402 2I2tX201 & 479,808 318,201 161,607
J| 119,952
S 29,962
Al 329,894
01 A E X 479,808 318,201 161,607
O=AE MAZHI(BIH) 479,808
119,952
= 29,962
Al 329,894
a3 etd st 192,966 197,388 N4,422
= 57,739
Al 135,227
307 21201 A 177,260 180, 168 A 2,908
S 52,366
Al 124,894
02 I BAAMAEE 177,260 180, 168 A2,908
OJN=EMHEE 55,000
< 22,000
Al 33,000
Otrs"Hdd 13,316
& 2,219
Al 11,097
Odt=zs=EE 17,484
£ 3,497
Al 13,987
Ox=st &= 21,000& +1,000&!+0.3 6,300
& 2,100
Al 4,200
O4sdHn 48,000,000& *1JH 2= +0.5 24,000
£ 9,000
Al 15,000
OREetRS=E 43,000
= 7,000
Al 36,000
OnssM8e HAAI==  30,000& *3005+0.6 5,400
£ 1,350
Al 4,050
Ot | Ect&ecl= 11,800
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Al 480
402 RI2EX20| ™ 15,706 17,220 A1,514
< 5,373
Al 10,333
01 22t t= AP E XL 15,706 17,220 A1,514
OFAAIE S#ZME (02, 2#2D1) 7,750
< 3,100
Al 4,650
ONBHEA SCEEET| 7,956
< 2,273
Al 5,683
SAoHE 5t 1,164,933 1,543,010 A 378,077
101 @124l 9,973 9,657 316
04 JI2ZtHZ22HEE = 9,973 9,657 316
O&&X& 0l 9,973
—Jles 44,6402 x1692 «1H 7,545
FA=g 44,6403 «35F+1H 1,563
—Qx=g 44 6403 8L »1H 358
— 2+AlH| 3,000 «169 «1H 507
201 Let249] 7,360 7,360 0
01 At 22l 7,360 7,360 0
Oget=gH| 3,000
—JISESHEIAM HA oM 5,000& 4005 2,000
— AMFXS T L =2 100,000& %105 1,000
OFAMAI#H W= 200,000 53] »1H 1,000
ogdzel 23 70,0003 +63 x8H 3,360
202 O4dl 3,000 3,000 0
01 = LH 4 Hi 3,000 3,000 0
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203 YR =&t 1,000 2,000 A 1,000
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O=MgeEA 1,000
206 M= Hl 3,500 3,500 0
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